Y4 - Autumn - Block 1 - Step 8 - 1,000 more or less Answers

1,000 less number 1,000 more

2,400 = 4,400
@ O O
8

1,315 o 3,315

o

a) 6,000 8,000
b) 2918 4,918
c) 203 2203

a) 1,000 more than 4,192 is 5,192
b) 100 more than 4,192 is 4,292
100 less than 4,192 is 4,092
c) 10 less than 4,192 is 4,182
10 more than 4,192 is 4,202
d) 1less than 4,192 is 4,191
1 more than 4,193

a) 1,900
b) 1,990
c) 1,999

a) 1,000 more than 7,163 is 8,163
b) 2,460 is 100 more than 2,360
c) 1,800 is 100 less than 1,900
d) 1less than 1500 is 1,499

e) 10 less than 109 is 99

f) 1,972 is 1,000 more than 972
g) 5,980is 10 less than 5,990

1,90 1800 1810 1820
2,565 4365 5365 6,365

Sometimes true, e.g. 100 more than 2,360 is 2,460 but 100 more than 2,960 is 3,060

a) 5290 f) 6,205
b) 1,395 g) 2970
c) 7,080 h) 802
d) 7,100 i) 4,900
e) 3,962 j) 1103

a) 6,741
b) 6,842




